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5.3 Graphing and Finding the Equation of Hyperbola 633 #1.5.1)

1. Draw and label the vertex, focus, both a values, axis of symmetry, directrix, and the latus rectum (focal width)

for the parabola (estimate where each part is located). G
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2. Label the center, vertices, foci, transverse axis, and asymptotes for the h‘y/perbola (estimate where each part is
located).
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Locate the center, vertices, foci and asymptotes of the hyperbola, then graph.
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Write an equation in standard form for the hyperbola that satisfies the given conditions.
5. Center at (0,0); Focus at (3, 0); Vertex at (1,0)
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6. Foci at (0,-5) and (0, 5); Vertex at (0,3)
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Which equations should you use?
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Locate the center, vertices, foci and asymptotes of the hyperbola, then graph.
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Write an equation in standard form for the hyperbola that satisfies the given conditions.

9. Center at (4, -1); Focus at (7, -1); Vertex at (6,-1)

Which equations should you use?
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10. Foci at (7, 3) and (7,7); Vertex at (7, 6)

Which equations should you use?
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Locate the center, a,b,c, vertices, foci and asymptotes of the hyperbola, then graph.
pia RX
11. __"__=1 .\‘ 1
16 4 N v
Center: / iﬁj ) 0 ) W
7 /
J/’
a= L]' 17
.,
R 4 :
g o iEgn el -
= t2=¢ 240 = J2p=205 & > x
1 yF__1 .. 4
Vertices: (') 4) | {/ 0, — ",} = — 7 |
ol ( J 5
Foci: (¢ (' J I- / g S /]
i 10206 ), [0,-215) ATHN
Slope of the Asymptotes: ,.2.\* - f :
. 7 1




/ L L .I . {' } 5 2 - |

_____,;'_,____‘— ’______,7 \
%/ ' ;

Io(( [P 4y’ —‘{(Z:ﬁ’)z =9_
\Gr = —a 9

-1
|

Center: /’LL 5 )
T 7 7

B Bt s A
e 3% ¢ 5 {0

Vertices: /“F 7/; ‘ *'.
L2 -

Foci:f"‘*f"“; [ |

Slope of the Asymptotes: = -

e

(i 13. ?__(gcjr»_)? —4(y+2)° =28

.

Center: [ —

Vertices: ( f Ml [-lp

Foci: (' "' ~\

/
J—

Slope of the Asymptotes: L_r.__—————

~ —~

Uh

.'-\
¥

i

Uh

s




Werite an equation in standard form for the hyperbola that satisfies the given condition.

14. Center at (-3, 1); Focus at (-3, 6): Vertex at (-3,4) y
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15. Focus at (-4, 0); Vertices at (-4, 4) and (-4, 2) y
Which equations should you use? 19
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